1106 Achievement ratio of conformable water based on odor of chlorine (%)
Achievement ratio of conformable water based on odor of chlorine = {1 — (Maximum residual chlorine
concentration — Target residual chlorine concentration) / Target residual chlorine concentration} x 100 (%)

If a calculated value is less than 0%, this PI value is 0%.
If a calculated value is more than 100%, this PI value is 100%.
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1106 Achievement ratio of conformable water based on odor of chlorine (%)
[Percentile Value] Water Utility
Fiscal year
F.Y. 95% 75% 50% 25% 5% Measurement Material Target
2009 100 100 75 25 0 Residual Chlorine 0.4mg/L
2010 100 100 75 25 0
2011 100 100 75 25 0
2012 100 100 75 25 0
2013 100 100 75 25 0
Population supplied (F.Y.2013)
Persons| 95% 75% 50% 25% 5%
<=1 100 100 100 50 0
1-3 100 100 75 50 0
3-10 100 100 75 0 0
10-50 100 75 50 0 0
50< 94 50 25 0 0
X 10,000persons
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